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SECTION A
Answer any 4 in the section A. Each carries 2 mark

1. Hcp kam´ct{iWnbpsS _oPKWnXcq]w 3n + 2BWv. t{iWn-
bpsS BZy]Zhpw s]mXphyXymkhpw IW¡m¡pI .

If the algebraic form of an arithmetic sequence is 3n+ 2
then find its first term and common difference

2. Hcp ka`pP{XntImW‾nsâ Hcp hiw hymkambn hc¡pó hr‾-

‾nsâ AI‾mbncn¡ptam, ]pd‾mbncn¡ptam ,hr‾‾nembncn-
¡ptam FXnÀioÀj‾nsâ Øm\w ? F´psImïv ?
A circle is drawn on one side of an equilateral triangle
as diameter. Where does the opposite vertex lie? Is it
outside ,inside or on the circle?

3. Nn{X‾nð ABCDEFHcp kajUv`pPamWv. B,D,EFóo ioÀ-
j§Ä tNÀ‾v Hcp {XntImWw hc¨v tjbvUv sNbvXncn¡póp.
CXntebv¡v t\m¡msX Hcp Ip‾n«mð B Ip‾v tjbvUv sN-

bvXncn¡pó `mK‾v hogm\pÅ km[yX IW¡m¡pI
ABCDEF is a regular hexagon. The vertices B,D,G

joined together to make a triangle. The triangle so formed
is shaded . A fine dot is placed into the figure without
looking. What is the probability of falling the dot in the
shade?

4. Hcp F®ðkwJytbmSv AXnsâ hÀ¤w Iq«nbt¸mÄ 30In«n. kwJy
xBbn IW¡m¡n cïmwIrXn kahmIyw cq]oIcn¡pI. kwJy IW-
¡m¡pI
The sum of a natural number and its square is 30. Write a
second degree equation by taking x as the number. Find
the number by solving this equation.

5. {XntImWw ABC ka`pP{XntImWamWv.

A(3, 0), B(−3, 0)Bbmð CbpsS kqNIkwJyIÄ Fgp-
XpI. {XntImW‾nsâ ]c¸fhv IW¡m¡pI
Triangle ABC is an equailateral triangle. If
A(3, 0), B(−3, 0) then find the coordinates of C.Calcualte
the area of the equilateral triangle.

6. sinA+sinB+sinC = 3Bbmð sin3 A+sin3 B+sin3 CI-
W¡m¡pI .
IfsinA+sinB + sinC = 3 then find the value of sin3 A+
sin3 B + sin3 C

SECTION B
Answer any 4 in the section B. Each carries 3 mark

7. Hcp kam´ct{iWnbpsS _oPKWnXw 4n+7Bbmð BZys‾ n

]Z§fpsS XpI IW¡m¡pI. Cu t{iWnbpsS BZys‾ 30]Z§-
fpsS XpI IW¡m¡pI
The algebra of an arithmetic sequence is 4N +7.Find the
sum of first n terms of this arithmetic sequence.Calculate
the sum of first 30terms of this sequence

1P.A John, HIBHS Varapuzha

8. ]cnhr‾‾nsâ Bcw 4 skâoaoäÀ Bb ka`pP{XntImWw hc¨v
hi‾nsâ \ofw AfsógpXpI.
Draw an equilateral triangle of circumradius 4cm,write
the length of the side by measuring it

9. Unkw_À amk‾nð 5Xn¦fmgvNIÄ DïmIm\pÅ km[yX IW-

¡m¡pI.
Calculate the probability of getting 5 Mondays on the
month December

10. cïv kwJyIfpsS XpI 9BWv. AhbpsS hypð{Ia§fpsS XpI
1

2
Bbmð Hcp cïmwIrXn kahmIyw cq]oIcn¨v ]cnlmcw Iïv
kwJyIÄ IW¡m¡pI.

The sum of two numbers is 9, the sum of their reciprocals
is 1

2
.Find the numbers by solving a relevent second degree

equation .

11. ABC AB = 18cm,BC = 12cm∠A = 40◦ .
In triangle ABC, AB = 18cm,BC = 12cm∠A = 40◦.
Calculate the area of this triangle .

12. Hcp _nµp A(−2,−2)Fó _nµphnð\nópw 4bqWnäv apIfnte-
bv¡v \o§n Bbnse‾póp. Bbnð\nóv 6bqWnäv het‾¡v
\o§n Cbnse‾póp. Cbnð\nóv 6bqWnäv apIfnte¿v \o§n
Dbnse‾póp. B,C,DFóo _nµ¡fpsS kqNIkwJyIÄ Fgp-

XpI. Abnð \nópw Bbnte¡pÅ Gähpw Ipdª Zqcw IW¡m-
¡pI
A point starts from (−2,−2)moves the distance 4unit up
,reaches B. It turns right moves 6unit forward reaches
C. It turns left moves the distance 4unit forward. Write
the coordinates of B,C,D. What is the shortest distance
from A to D

SECTION C
Answer any 10 in the section C. Each carries 4 mark

13. Hcp _lp`pP‾nsâ tImWpIÄ kam´ct{iWnbnemWv . Gä-

hpw sNdnb tIm¬ 120◦BWv , s]mXphyXymkw 5._lp`pP‾n\v
F{X hi§fpïmbncn¡pw ?
The angles of a polygon are in an arithmetic sequence.
The smallest ange is 120◦ and the common difference 5.
Calcualte the number of sides of this polygon

14. kqNIm£§Ä hc¨v A(−6, 6), B(6, 6), C(−3,−2), D(3,−2)Fóo
_nµp¡Ä ASbmfs¸Sp‾pI. Ch {Ia‾nð tbmPn¸n¨mð In«pó
NXpÀ`pP‾nsâ BIrXn F´mWv ? Cu NXpÀ`p‾nsâ ]c¸fhv

IW¡m¡pI
Draw the coordinate axes and mark the points
A(−6, 6), B(6, 6), C(−3,−2), D(3,−2).Suggest a suitable
name to the polygon ABCD. Calculate the area of this
polygon

15. 20aoäÀ \ofhpw 14aoäÀ s]m¡hpapÅ cïv sI«nS§fpïv . Ah-
bpsS apIfä§Ä X½nð Hcp NcSv D]tbmKn¨v _Ôn¨ncn¡póp.
NcSv XncÝo\hpambn 40◦tIm¬ cq]oIcn¡póp. NcSnsâ \ofw

IW¡m¡pI .
The top edges of two towers of height 20meter and 14
meter are joined by a string. The string makes 40◦ with
the horizontal. Calcualte the length of the string

16. Nn{X‾nð ABAÀ²hr‾‾nsâ hymkamWv. Cu AÀ²hr‾‾n-
sâ Bcw hymkam¡n asämcp AÀ²hr‾w hc¡póp. PCFó

hc ABbv¡v ew_ambmð {XntImWw OCBHcp ka`pP{XntImW-
amsWóv sXfnbn¡pI
In the figure AB is the diameter of a semicircle. There is
a semicircle whose diameter is same as the radius of the
first semicircle. PO is perpendicular to AB. Prove that
triangle OCBis an equilateral triangle
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17. Hcp a«{XntImW‾nsâ Hcp ew_hiw atä ew_hit‾¡mÄ 7sk-
âoaoäÀ IpdhmWv . IÀ®w 13skâoaoäÀ Bbmð aqóv hi§fp-
sSbpw \ofw IW¡m¡pI.

One perpendicular side of a right angled triangle is 7 less
than the other. The hypotenuse is 13cm .Calcualte the
sides of this triangle .

18. {XntImWw ABCbnð tIm¬ A = 70◦ , tIm¬ B = 80◦BWv.
]cnhr‾‾nsâ Bcw 4skâoaoäÀ F¦nð {XntImWw hc¡pI.
In triangle ABC,∠A = 70◦,∠B = 80◦, radius of the cir-
cumcircle is 4cm. Construct the triangle.

19. Ggnsâ KpWnX§fmb cï¡kwJyIÄ Hmtcmópw Hmtcm sNdnb
ISemkv IjW§fnð FgpXn s]«nbnen«ncn¡póp.C‾cw F{X

ISemkpIjW§Ä s]«nbnepïmIpw ? CXnð\nópw t\m¡msX
Hsc®saSp‾mð In«póXv Cc«kwJy BIm\pÅ km[yX F{X?
CXnð\nópw t\m¡msX Hsc®w FSp‾mð In«póXv 5sâ KpWn-

XamIm\pÅ km[yX IW¡m¡pI. In«póXv ]qÀ®hÀ¤amIm\pÅ
km[yX F?
Each of the two digit multiples of 7 are written in small
paper pieces and placed in a box.How many paper pieces
are there in the box. One of them is taken at random.
What is the probability of getting an even number. What
is the probability of getting a multiple of 5? What is the
probability of getting a perfect square.

20. Hcp kam´ct{iWnbpsS BZys‾ n]Z§fpsS XpI 3n2 +
4nBWv. t{iWnbpsS BZys‾ ]Zw F{X? s]mXphyXymkw IW-
¡m¡pI. t{iWnbpsS _oPKWnXcq]w FgpXpI. Cu t{iWnbpsS
Ccp]‾nAôv ]Z§fpsS XpI 2018BIptam? F´psImïv ?

The sum of the first n terms of an arithmetic sequence is
3n2 + 4n. What is its first term and common difference?
Write its algebraic form. Can the sum of any 25 terms of
this sequence 2018

21. B[mc_nµp tI{µambn Hcp hr‾w hc¨ncn¡póp. hr‾‾nse
Hcp _nµphmWv P (3, 4). Cu hr‾‾nsâ Bcw F{X? Cu

hr‾‾nse F«v _nµp¡fpS kqNIkwJyIÄ FgpXpI. PFó
_nµphnsâ kqNIkwJyIÄ FgpXpI
A circle is drawn with the origin of the coodinate system
as the center. (3, 4) is a point on the circle. Find the
radius of the circle. Write the coordinates of eight points
on this circle. Also determine the co ordinates of P

22. (3, 6), (−3, 4)Fóo _nµp¡Ä (x, y) Fó _nµphnð\nópw Htc
AIe‾nembmð x, yFónh X½nepÅ _Ôw Isï‾pI. Cu
_nµp yA£‾nemIpt¼mÄ kqNIkwJyIÄ IW¡m¡pI

(3, 6), (−3, 4) are the points equidistant from (x, y). Es-
tablish the relation between x and y. If this point is on
y axis , write the coordinates of that point

23. tI{µ‾nð \nópw 6skâoaoäÀ AIsebpÅ _nµphnð\nóv hr-
‾‾ntebv¡v Hcp sXmSphc hcn¨ncn¡póp. sXmSphc¡v 4skâo-
aoäÀ \ofapïv . Cu PymaoXobmibw {]ZÀin¸n¡póXn\v \nÀ½nXn
]qÀ‾nbm¡pI. hr‾‾nsâ Bcw AfsógpXpI
A tangent is drawn from a point to a circle at a distance
6cm from its center. If the tangent has the length 4cm,
represent this geometrically by a construction.

24. Hcp hr‾w hc¨v AXnð Hcp _nµp ASbmfs¸Sp‾pI. hr‾tI-

{µw D]tbmKn¡msX Cu _nµphneqsS hr‾‾n\v Hcp sXmSphc
hc¡pI.
Draw a circle and mark a point on it. Without using the
center of the circle draw a tangent to the circle at that
point. Write the geometric principle for your construction

SECTION D
Answer any in the section D. Each carries 5 mark

25. {XntImWw ABCbnð AB = 6 skâoaoäÀtIm¬ A = 40◦ .
tIm¬ Abv¡v FXnscbpÅ \ofw Gähpw Ipdhmbncn¡‾¡hn[w

CFó _nµp ASbmfs¸Sp‾pI. {XntImW‾nsâ hi§Ä Af-
sógpXpI. {XntImW‾nsâ ]c¸fhv IW¡m¡pI In triangle
ABC, AB = 6cm ,∠A = 40◦. Mark a point C such that

the side opposite to C has minimum length. Find the
length of the sides of the triangle .Calculate the area of
the triangle .

26. Hcp kam´ct{ianbnse BZys‾ 7]Z§fpsS XpI 119, BZys‾
17]Z§fpsS XpI 714. t{iWnbpsS _oPKWnXcq]w IW¡m¡p-
I. t{iWn FgpXpI.

The sum of the first 7 terms of an arithmetic sequence
is 119.The sum of first 17 terms is714. Determine the
algebraic form of this sequence. Write the sequence .

27. Hcp `nókwJybpsS Awiw tNZt‾¡mÄ 3IpdhmWv. tNZ‾Sv
1Iq«nbmð `oókwJy 1

15
Ipdbpw . `nókwJy IW¡m¡pI .

The numerator of a fraction is 3 less than its denominator.
If 1 is added to the denominator the fraction is decreased
by 1

15
.Find the fraction

28. {Kïnð Hcp Øm\‾p\nópw t\m¡pt¼mÄ Hcp hnam\w 60◦tað-
t¡mWnð ImWpóp. 30sk¡âv tijw t\m¡nbt¸mÄ hnam\w
30Un{Kn tað¡mWnð Iïp. 3600

√

3aoäÀ Dbc‾nemWv ]d¡p-

ósX¦nð hnam\‾nsâ thKX IW¡m¡pI .
The angle of elevation of an aeroplane from a point on
the ground is 60◦. After a flight of 30 seconds the angle
of elevation change to 30◦. If the plane is flying at the
height of 3600

√

3 m, find the speed of the plane

29. Hcp {XntImW‾nsâ Hcp hiw 6skâoaoäÀ BWv . FXnscbp-
Å tIm¬ 60◦ .hr‾‾nse RmWnsâ ew_ka`mPn tI{µ‾neqsS
ISópt]mIpóp, RmWpw sXmSphcbpw X½nepÅ tIm¬ adpJÞ-

‾nse tImWn\v Xpeyw Fóo PymanXobmib§Ä D]tbmKn¨v Cu
{XntImWw hc¡pI. C‾cw F{X {XntImW§Ä hc¡mw? hniZam-
¡pI .

In a triangle one side is 6cm and opposite angle is 60◦.
We know that the perpendicular bisector of the chord of
a circle passes through the center and the angle between
chord and the tangent is equal to angle in the comple-
ment. Using this construct such a triangle. How many
triangles are possible. Expalin

30. Hcp hr‾‾nð 11 _nµp¡Ä ASbmfs¸Sp‾nbn«pïv . Chsb
X½nð tbmPn¸n¨v F{X RmWpIÄ hc¡mw .
How many chodrds can be drawn by joining 11points in
a circle

2

2This paper is prepared on the first seven chapters.This is
not a model paper. Prepared for the students expecting higher
grades
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